Bitspower’ Bitspower CPU LN2 Container

©®E

fic &
LGA3647 (1) M3FERIE 418
OF: 1 8 R
3 Bz 418
@ F& 415
() BP-CPULN2 14
& FEuEs 4%
(@) LGA3647 %2 1A
@
Accessories
(1 M3 Thumb nut 4PCS
(2 Gasket 8 PCS
® spring 4PCS
@ Thread Rod 4 PCS
() BP-CPULN2 1SET
@ @ Thumb screw 4 PCS
(@) LGA3647 bracket 1PCS
® & o
@ (1) M3Fs2iE 41
@ wmzEznA 8 R
@ #= 44
@ Fi& 4%
(5) BP-CPULN2 14
(& Fripy 4%
() LGA3647 %22 1R

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MAENOASITEN - RIS SEGFUIIRE



®

Bitspower’ Bitspower CPU LN2 Container

®

© fic #
LGA115X (1) M3FERIE 418
@ OF: 1 8 R
3 Bz 418
@ F& 415
() BP-CPULN2 14
() LGA115X %2 1A
@
Accessories
(1 M3 Thumb nut 4PCS
(2 Gasket 8 PCS
® spring 4pCs
@ Thread Rod 4 PCS
() BP-CPULN2 1SET
@ (6) LGA115X bracket 1PCS
fic &
(1) M3FHziE 44
@ wmzEznA 8 R
@ #= 44
@ Fi 4%
(5) BP-CPULN2 14
(& LGA115X %22 1A

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRABELURBENES - MEEOASTEN - EREASARGURYRE -
& KRTRBN MR ERURBRNNT - MBENCASITEN - RIS SEGFUIIRE



: © @
Bitspower® © Bitspower CPU LN2 Container
® @ % #
AM4Q® ¢ @) M3FmgiE 418
OF: =1 8 R
: @ 3@ Bz 418
g @ F& 415
() BP-CPULN2 14
& zEB4 4%
@) EEmxz 1A
@
Accessories
(@) M3 Thumb nut 4PCS
(2 Gasket 8 PCS
@ Spring 4 PCS
@ Thread Rod 4 PCS
() BP-CPULN2 1SET
@ @ Boost screw 4 PCS
@ Original bracket 1PCS
®
fic &
(1) M3FHziE 44
@ #®zA 8 A
@ #= 44
@ Fi& 4%
(5) BP-CPULN2 14
(6 zmBL 4%
@ Fr=z: 1K

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEOASTEN - EREACARGURYRE -
& KRTRENFMRER I BRI RBRNNT - MBENCASITELN - RIS SEGFUIIRE



Bitspower’ Bitspower CPU LN2 Container

= 1 o &
AM4Q) i 2 (1) M3FERIE 418
OF: 1 8 R
3@ Bz 418
@ @ F 415
() BP-CPULN2 14
z () LGA115X %2 1A
Accessories
@ (1 M3 Thumb nut 4PCS
(2 Gasket 8 PCS
@ Spring 4 PCS
@ Thread Rod 4 PCS
() BP-CPULN2 1SET
(8 LGA115X bracket 1PCS
®
fc #
(1) M3FH3iE 44
@ #®zHA 8 A
B == 44
@ Fi& 4%
(® BP-CPULN2 14
(6 LGA115X %22 1A

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

KATRBHERVRTEIURBENES) - MAEHRASITEN - ERRCEARGUEYHE -
& KRTREN MR BRI RBRNNT - MBENCASITELN - RIS SEGFUIIRE



Bitspower’ Bitspower CPU LN2 Container

@
@ o &

X299 (1) M3FERIE 418

OF: =1 8 R
3 == 41

@ @ T 41&
() BP-CPULN2 14
& zEB4 4%

@ Accessories
(@) M3 Thumb nut 4PCS
(2 Gasket 8 PCS
® spring 4PCS
@ Thread Rod 4 PCS
() BP-CPULN2 1SET
@ Boost screw 4 PCS

®

fic &%

@ (1) M3FHziE 44
@ #®zA 8 R
@ #= 44
@ Fi 4%
(® BP-CPULN2 14
CERLZ 4%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEOASTEN - EREACARGURYRE -
& KRTRENFMRER I BRI RBRNNT - MBENCASITELN - RIS SEGFUIIRE



©

- = 1 : :
Bitspower® S ® Bitspower CPU LN2 Container

% @ B
X399 © (1) M3FERIE 418
% OF: =1 8 R
3 == 41
@ @ T 41&
() BP-CPULN2 14
} & zEB4 4%

Accessories

@ (@) M3 Thumb nut 4PCS
(2 Gasket 8 PCS
® spring 4PCS
@ Thread Rod 4 PCS
() BP-CPULN2 1SET
@ Boost screw 4 PCS

fic &%
3 (1) M3FHRiE 41
@ wmzEznA 8 R
@ #= 44
@ Fi 4%
@ (5) BP-CPULN2 14
(6 zmBL 4%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACEARGURYRE -
& KRTREN MR BRI RBRNNT - MBENCASITELN - RIS SEGFUIIRE



